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Polymer

ALLEN®
SOLUTION 7. Official Ans. by NTA (1)
1. Official Ans. by NTA (3) Sol. — orlon fibers are made up of Polyacrylonitrile
0]
NH (PAN)
Sol. (a) Caprolactum is the monomeric unit C=N
8. Official Ans. by NTA (1)
HN - (CH,),—C Sol. Amylose is a linear chain polymer of a-D-
of polymer Nylon-6 Il . . .
O 0 glucose while amylopectine is branched chain
(b) 2-Chlorobuta-1, 3-diene is the monomeric polymer of a-D-glucose.
unit of polymer neoprene. 9. Official Ans. by NTA (3)
H H
(¢) 2-Methylbuta-1, 3-diene is the monomeric | [
Sol. N N
unit of polymer natural rubber. H \"/ \NQ(
(0)
(d) CHy = CH - CN (Acrylonitrile) is the one
Semicarbazone molecule of acetone
of the monomeric unit of polymer Buna-N
10. Official Ans. by NTA (3)
2, Official Ans. by NTA (4) Sol. Novolac (phenol formaldehyde Resin)
Sol. BUN-S,'S' stand for styrene. .
(A~ +(Ph_CH=CH,) Lolymerisation [ g — Bakelite
Buta  styrene 11. Official Ans. by NTA (2)
-1,3-diene
3. Official Ans. by NTA (1
tetat Ans. by M =\ Sol. (a) Chloroprene @) /I\/
J— Nascen _ _
Sol. J \+ _[',theﬁ’ (CHZ CH,-CH, (le‘) cl
BuNa-S§ Ph M
4.  Official Ans. by NTA (3) (b) Neoprene (i) NN
Sol. CH,=C-CH=CH, _fclmerizton (c) Acrylonitrile  (iii) CH,=CH-CN
él Cl
Chloroprene d I ; )\/
2—Chloro-1, 3-Butadiene (d) Isoprene @) = N\~
CH,— C=CH - CH, 12. Official Ans. by NTA (1)
7 >
Cl ; T
Neoprene Sol. Phenol + H-C-H - &8&2&3&
S. Official Ans. by NTA (3) Linear polymer
Sol. Urea —HCHO resin is used in manufacture of Polymerisation Bakelite
wood laminates. (3Dstructures)
6. Official Ans. by NTA (2) 13.  Official Ans. by NTA (3)
Sol. (a) Alcoholic potassium hydroxide — used for Sol. A biodegradable polyamide nylon-2-Nylon-6 in
[B-elimination . . .
_ made from glycine and amino caproic acid
(b) Pd/ BaSO, — Lindlar's catalyst 14.  Official Ans. by NTA (1)
(c) BHC (Benzene hexachloride) — Obtained Sol. Novolac + formaldehyde —> Bakelite

by addition reactions

(d) Polyacetylene — Electrodes in batteries
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15. Official Ans. by NTA (3)

Sol. Monomer of Novolac is

CH,OH
@/ O-hydroxy methyl phenol

16. Official Ans. by NTA (1)

Sol. Novalac is a linear polymer of [Ph-OH +
HCHOJ. So ester linkage not present.
So novalac is not a polyester.

17. Official Ans. by NTA (2)
Sol. HO—ﬁ—@—ﬁ—OH+HO—CH2—CH2—OH
(0] (0]

(Terephthalic (Ethylene

ﬁ—@—ﬁ—O —CH,—CH,—-0
O O
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